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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)34 (B)24 (C)39 (D)40 (E)14

What approximate value  should come in the place of question mark(?)in the following 
questions.

12.897² + 13.043² − 17.996²  = ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 144 (B) 49 (C) 256 (D)81 (E)8

What approximate value  should come in the place of question mark(?)in the following 
questions.

12.44% of 411.99 − 16.63% of 342.44 + √156.83  = √?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)100 (B)95 (C)105 (D)85 (E)75

What approximate value  should come in the place of question mark(?)in the following 
questions.

√(143.13² − 3.97 × 2345.78) = ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)26 (B)41 (C)29 (D)50 (E)62

What approximate value  should come in the place of question mark(?)in the following 
questions.

√197.11 +√1090.2 − ³√2196.55   = ?% of 131.21
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 160 (B)145 (C) 155 (D)135 (E)165

What approximate value  should come in the place of question mark(?)in the following 
questions.

= ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 61 (B)107 (C)166 (D)241 (E)331

Find the wrong term in the given series  

11.     16 ,  31 , 61 , 107  , 166  , 241 , 331

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)55 (B)71 (C)108 (D)171 (E)271

Find the wrong term in the given series  

12.     51  ,  55  , 71 , 108  ,  171  , 271 ,  415
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)63 (B)94.5 (C)141.75 (D)212.92 (E)318.9375

Find the wrong term in the given series  

13.     42  , 63  , 94.5 , 141.75 , 212.92 , 318.9375
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)7 (B)8 (C)20 (D)69 (E)290

Find the wrong term in the given series  

14.  7  ,  8  , 20  , 69 , 290  , 1485  , 8946    
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)14 (B)47 (C)146 (D)453 (E)1334

Find the wrong term in the given series  

15.   3 ,  14   , 47 , 146 , 453  , 1334  ,  4007  
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)2.1 hours (B)2.4 hours (C)2.7 hours (D)2.9 hours (E)None of these

Q.14:- Tap A and B fill a tank in 6 hours and 8 hours respectively and tap C empties the tank in 12½ 
hours . If all the taps are opened simultaneously, then in how much time(approximate) the tank will 
behalf-filled?
नल A और B एक टंकी को क्रमश: 6 घंटे और 8 घंटे में भरते हैं और नल C टंकी को 12½ घंटे में
खाली करता है। यदि सभी नलो ंको एक साथखोल दिया जाए, तो टंकी कीओर से दकतने समय
(अनुमादनत) में भरा जाएगा?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)144 (B) 169 (C)256 (D)225 (E)None of these

Q.15:- Sum of the length and width of a rectangle (R1) is 78 cm and of rectangle (R2) is 52 cm. 
What is the area of a square whose side is 1/4th of the difference of the perimeter of R1 and R2?
एकआयत (R1) की लंबाईऔर चौडाई का योग 78 सेमीऔरआयत (R2) की 52 सेमी है। एक
वगग का के्षत्रफलक्या है दजसकी भुजा R1 और R2 के पररमाप के अंतर का 1/4 भाग है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)152 days (B)120 days (C)136 days (D)144 days (E)156 days

Q.16:- A does half of the work in 36 days and B does 1 /4th of the same work in 12 days. With the 
help of C, they together complete the work is completed in 24 days. In how many days C alone can 
complete the work?
A आधे काम को 36 दिनो ं में करता है और B उसी काम का 1/4 दहस्सा 12 दिनो ं में करता है। C की
सहायता से वे दमलकरकायग को 24 दिनो ं में पूरा करते हैं। C अकेला उस कायग को दकतने दिनो ं में
पूरा कर सकता है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)600 (B)800 (C)1000 (D)1200 (E)400

Q.17:- A person bought a watch at a 20% discount. He sold the watch to his friend for Rs. 2700 and 
earns a profit of 12.5%. Find the discount offered on the watch.

एकव्यक्ति ने एक घडी 20% छूट परखरीिी। उसने अपने िोस्तको 2700 रुपये में घडी बेची
और 12.5% का लाभ अदजगत दकया। घडी पर िी जाने वाली छूट का पता लगाएं।
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)44km/hr (B)48km/hr (C)36km/hr (D)52km/hr (E)CND

Q.18:- The speed of a car and a train are in the ratio of 4 : 3 while running in an opposite direction. 
If the total distance travelled by them is 1260 km, then find the speed of the car.

एककारऔर एक टर ेन की गदत दवपरीत दिशा में िौडते समय 4:3 के अनुपात में है। यदि उनके
द्वारा तय की गई कुल िूरी 1260 दकमी है, तो कार की गदत ज्ञात कीदजए।
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)45 days (B)40 days (C)60days (D)36days (E)None of these

Q.19:- 50 men and 60 women can do a piece of work in 5 days, 30 men and 20 women can do the 
same work in 9 days. Find the time in which 4 men and 6 women will do the same work.
50 पुरुषऔर 60 मदहलाएं एककामको 5 दिनो ं में कर सकते हैं, 30 पुरुषऔर 20 मदहलाएं उसी
कामको 9 दिनो ं में कर सकते हैं. वह समय ज्ञात कीदजए दजसमें 4 पुरुषऔर 6 मदहलाएं समान
कायग करें गे।
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)4 (B)5 (C)6 (D)8 (E) 9

Q.20:- A and B invested Rs. 4000 and Rs. 6000 respectively in a business. C joins them after x 
months with the investment of Rs. 5000. If after one-year A receives Rs. 240 and C receives Rs. 10 
as a share of profit, then find the value of x?
A और B ने एकव्यवसाय में क्रमशः Rs 4000 और Rs 6000 का दनवेश दकया।C 5000 रुपये के
दनवेश के साथ x महीने के बाि उनके साथ जुड जाता है। यदि एक वषग के बाि A को 240 रुपये
और C को लाभ के दहसे्स के रूप में 10 रुपये दमलते हैं, तो x का मूल्यज्ञात करें?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Directions (Q. 26-30):Direction for Question

Study the following graph carefully to answer the question: (The data below is given in 

hundreds)     The graph shows the number of bike sold from two shops.

प्रश्न का उत्तर िेने के दलए दनम्नदलक्तखत ग्राफ काध्यानपूवगक अध्ययनकरें :(नीचे दिया गया डेटा

सैकडो ं में दिया गया है ) ग्राफ िो िुकानो ं से बेची गई बाइक की संख्या को िशागता है।
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)1867 (B)1826 (C)1838 (D)1857 (E)1860

Q.26 :-What is the approximate average number of bikes sold by Shop B during all the days 
together?
शॉप B द्वारा सभी दिनो ं में एकसाथ बेची जाने वाली बाइक्सकीअनुमादनतऔसत संख्याक्या

है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)15% (B)11% (C)18% (D) 9% (E)20%

Q.27 :-The number of bikes sold by Shop B on Friday is what percent of the total number of 
bikes sold by both Shop A and B on all the days together? (Rounded off to the nearest 
integer)
शॉप B द्वारा शुक्रवारको बेची गई बाइक्सकी संख्या, शॉपA और B िोनो ं द्वारा बेची गई बाइक्स
की कुल संख्याका सभी प्रदतशत एकसाथ दकतने दिनो ं में है? (दनकटतम पूर्ाांक तक)
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)2:3 (B)3:4 (C)4:3 (D)5:4 (E)7: 2

Q.28 :- What is the respective ratio of the number of bikes sold by Shop A on Thursday to 
the number of bikes sold by Shop B on Monday?
शॉपA द्वारा गुरुवारको बेची गई बाइक्सकी संख्याका संबंदधतअनुपात सोमवारकोशॉप B द्वारा
बेची गई बाइक्सकी संख्या सेक्या है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)13: 15 (B)16:19 (C)19:15 (D) 19 : 17 (E) 17:21

Q.29 :- What is the respective ratio of the total number of bikes sold on Friday to the total 
number of bikes sold on Thursday?
शुक्रवारको बेची गई बाइककी कुल संख्या गुरुवार को बेची गई बाइककी कुल संख्याका
संबंदधतअनुपातक्या है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)125.34% (B)132.67% (C)143.89% (D)140% (E)138.5%

Q.30 :-The total bikes sold by Shop B on all days excluding Wednesday is what percent of 
the total number of bikes sold on Thursday, Friday and Saturday together?
शॉप B द्वारा बुधवारको छोडकरसभी दिनो ं में बेची गई कुल बाइक्स गुरुवार, शुक्रवारऔर
शदनवारको एकसाथ दबकने वाली बाइको ंकी कुल संख्याका दकतना प्रदतशत है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Directions (Q. 26-30):Direction for Question

Study the following bar graph carefully and answer the questions accordingly.

Following graph gives the demand and production of mobile phones of five companies 

A, B, C, D and E
दनम्नदलक्तखत बार ग्राफ का ध्यानपूवगक अध्ययन करें और उसके अनुसार प्रश्नो ं के उत्तर िें। दनम्नदलक्तखत ग्राफ पांच

कंपदनयो ंA, B, C, D और E के मोबाइल फोन की मांग और उत्पािन को िशागता है
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)71.4% (B)85% (C)140% (D)66.67% (E)None of these

The production of company B is approximately what percent of the demand?

कंपनी B का उत्पािन मांग का लगभग दकतना प्रदतशत है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)6200 (B)50000 (C)62000 (D)52000 (E)None of these

What is the average production of mobile phones by all the companies?

सभी कंपदनयो ं द्वारा मोबाइलफोन काऔसत उत्पािन दकतना है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)A and D (B)B and E (C) D and E (D) B and A (E)None of these

The production of mobile phones by company C is the same as the production of which of 
the following pairs of the companies?
कंपनी C द्वारा मोबाइलफोन का उत्पािन कंपनी के दनम्नदलक्तखत में से दकसजोडे के उत्पािन के
समान है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)30% (B)65% (C)83.3% (D)40% (E)None of these

The demand of company E is approximately what percent of the demand of company D?

कंपनी E की मांग कंपनीD की मांग का लगभग दकतना प्रदतशत है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Q.31 :- I. x² + 14x + 45 =0                        II.  y² + 7y + 12 =0

Q.32 :- I. x2 − 27x +180 =0                      II.  y2 − 26 y+165= 0

Q.33 :- I. x²+300x + 2051 = 0 II. y²− 200y −19241= 0

Q.34 :- I. 2x²+ 2103 =707x II. y2 +346y = 1047

Q.35 :- I. 2x2 − 25x + 78 =0 II. 3y² + 4y −119 =0
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)B (B)C (C) D (D)E (E)None of these

To meet its demand the company A wishes to buy the surplus mobile phones from a single 
company. Which of the following companies can supply?
अपनी मांग को पूरा करने के दलए कंपनी ए एक ही कंपनी से अदधशेष मोबाइलफोनखरीिना
चाहती है। दनम्नदलक्तखत में से कौन सी कंपनीआपूदतग कर सकती है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)55.2% (B)45.2% (C)35.2% (D)27.5% (E)32%

In a school number of students in 9th and 10th class is in the ratio 6:11. If 60% of total 
students in class 9th are boys and 52% of total students in class 10th are boys, then find total 
girls in both the class together is approximately what percentage of total students in both the 
classes?
9 वी ंऔर 10 वी ंकक्षा में दवद्यादथगयो ंकी संख्या 6: 11 के अनुपात में है। यदिकक्षा 9 वी ंमें कुल
दवद्यादथगयो ंमें से 60% लडके हैं और 10 वी ंकक्षा में कुल दवद्यादथगयो ं के 52% लडके हैं, तो िोनो ं
कक्षाओं में कुल लडदकयो ंकी संख्या, िोनो ंकक्षाओं में कुल दवद्यादथगयो ंका लगभग दकतना
प्रदतशत है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)96 (B)76 (C)86 (D) 46 (E)None of these

In an office some persons are officers and some are non-officer. The number of officers is 30. 
The average salary of officers is Rs.1040 and that of non-officers is Rs.400. If the average 
salary of entire staff in office (officers + Non officers) is Rs.500 per month, then what is the 
average of total number of employees (officers + Non - officers) in the office 
एककायागलय में कुछव्यक्तिअदधकारी हैं और कुछ गैर अदधकारी हैं। अदधकाररयो ंकी संख्या 30 
है। अदधकाररयो ंकाऔसत वेतन 1040 रुपये हैऔर गैर अदधकाररयो ंका वेतन 400 रुपये है। यदि
कायागलय में सभीकमगचाररयो ं ( अदधकाररयो ं+ गैर-अदधकाररयो ंकाऔसत वेतन 500 रुपये प्रदत
माह है, तो कायागलय में कमगचाररयो ं (अदधकाररयो ं+ गैर-अदधकाररयो)ं की कुल संख्याकाऔसत
क्या है?
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(A) 5 (B)6 (C)7 (D)8 (E)9

A work is started by a man and it is assumed that he will finish the work in 11 days if 
working alone. Each subsequent day a new man joined the work. In how many days the 
four times the original work will be completed, if after the 8th day from the starting of the 
work no new man will be further added?
एककाम एकआिमी द्वारा शुरू दकया जाता है और यह माना जाता है दक वहअकेले कामकरने
पर 11 दिनो ं में कामखत्मकर िेगा। प्रते्यकबाि के दिन एकनयाआिमी काम में शादमल हुआ।
प्रारंदभककायग के चार गुने कायग को दकतने दिनो ं में पूरा दकया जाएगा, यदिकायग शुरू होने के 8 वें
दिन के बािकोई नयाआिमीआगे नही ंजोडा जाएगा?
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(A)30% (B)40% (C)50% (D) 60% (E)70%

Instead of normal weighing scale a shopkeeper used forged scale. He used 1.4 kg scale while 
buying and 840g scale while selling, what will his overall profit percentage, if in the end he 
offers 10% discount?
सामान्यतौल पैमाने के बजाय एक िुकानिार जाली पैमाने का उपयोगकरता है। उन्ोनें खरीिते
समय 1.4 दकलो से्कलका इसे्तमाल दकयाऔर बेचते समय 840g पैमाने पर, उनका कुललाभ
प्रदतशतक्या होगा, अगर अंत में वह 10% छूट प्रिानकरता है?
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(A)1 : 7 (B) 2: 7 (C)7 : 1 (D) 7 : 2 (E)None of these

There are 3 points P, Q and R in a straight line, such that point Q is equidistant from points 
P and R. A man can swim from point P to R downstream in 24 hours and from Q to P 
upstream in 16 hours. Find the ratio of speed of man in still water to speed of stream?
एकसीधी रेखा में 3 दबंिु P, Q औरR हैं, इस प्रकार दक दबंिुQ, दबंिु P औरR से समान िूरी पर है।
एकआिमी दबंिु P से R अनुप्रवाहकीओर 24 घंटे में औरQ से P उर्ध्गप्रवाह 16 घंटे में तैर सकता
है। शांत जलमें मनुष्यकी गदत तथा धारा की गदतका अनुपात ज्ञातकीदजए।
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(A)6.5 (B)7.2 (C)4.5 (D)5.2 (E)None of these

Shilpa took a loan of Rs. 15,00,000 to purchase a car. The company charges compound 
interest at 20% per annum. She promised to make the payment after three years. But for 
the last year of loan tenure, the company increased the rate of interest by 25% from the 
previous one. Then the extra amount which she had to pay is what per cent of the amount of 
loan taken by her?
दशल्पा ने रुपये काऋर् दलया।कारखरीिने के दलए 15,00,000। कंपनी प्रदत वषग 20% पर चक्रवृक्तिब्याजवसूलती है।
उसने तीन साल बाि भुगतान करने का वािा दकया। लेदकनऋर्कायगकाल के अंदतम वषग के दलए, कंपनी ने दपछले
एक सेब्याजिरको 25% बढा दिया। दफर उसे जो अदतररि रादश िेनी थी, वहउसके द्वारा दलए गएऋर्की रादशका
दकतना प्रदतशत है?
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(A)24 (B)32 (C)30 (D) 36 (E)None of these

Amit, Bhanu, Chandu, and Dhoni are four friends. In which Bhanu and Chandu are 
brothers. 360 sweets are divided among them. Amit gets 200/3 % of Bhanu. Bhanu gets 40% 
of Chandu and Chandu gets 75% of Dhoni. Then what is the difference between the 
number of sweets received by brothers and the number of sweets received by others?
अदमत, भानु, चंिू, औरधोनी चार िोस्तहैं। दजसमें भानुऔर चंिू भाई हैं। 360 दमठाइयो ंकोआपस
में बांटा गया है। अदमतको भानु का 200/3% दमलता है। भानु को चंिू का 40% और चंिू को धोनी
का 75% दमलता है। दफरभाइयो ं द्वारा प्राप्त दमठाईकी संख्याऔर िूसरो ं द्वारा प्राप्त दमठाईकी
संख्या में क्या अंतर है?
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(A)42000 (B)47500 (C)37800 (D)40500 (E)None of these

The cost price of an article is Rs. 42000. The shopkeeper offers a discount of 20% on it and 
loses at a rate half of the rate of discount rate. The marked price of the article is
एकवसु्तकाक्रय मूल्य 42000 रुपये है। िुकानिार इस वसु्त पर 20% की छूट िेता हैऔर छूट िर
की िर केआधा िर से हादन प्राप्तकरता है । वसु्त का अंदकत मूल्य है
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1200 (B)3000 (C)3600 (D) 2400 (E)None of these

Ramu and Shyamu undertake to do a piece of work for Rs.7200. Ramu alone can do it in 8 
days and Shyamu alone can do it in 12 days. With the help of Raju they finish it in 4 days. 
Then the share of Raju (in Rupees) is -
रामू औरश्यामू एककामको 7200 रूपये में करने का ठेका लेते हैं | अकेले रामू इसे 8 दिनो ं में कर
सकता है।औरश्यामू अकेले इसे 12 दिनो ं में कर सकता है । राजू की मिि से वे इसे 4 दिनो ं में
खत्मकर िेते हैं। तो राजू का दहस्सा (रुपयो ंमें) है -
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(A)80/243 (B)1/2 (C)8/729 (D)160/729 (E)None of these

A bowler can hit the stump 1 out of 3 balls. If he bowled one over, what is the probability that 
he clean bowled thrice?
एकगेंिबाज के 3 गेंिो ं में से 1 गेंि सं्टप से टकरा सकती है। यदि वह एकओवरफें कता है, तो तीन
बारक्लीन बोल्डकरने की प्रादयकताक्या होगी?
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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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Q.31 :- I. x³ = 1331                                   II.  y³  =1728

Q.32 :- I. 2x2 + x − 1 =0                            II.  2y2 −3 y+1= 0

Q.33 :- I. x²+11x + 30 = 0 II. y²+ 12y +36= 0

Q.34 :- I. 6x²+ 51x+ 105=0 II. 2y2 +25y + 78 = 0

Q.35 :- I. 6x + 7y =52 II. 14x + 4y =35
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